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3.461-3471-  |-[  ]-3.501

@© 3.472,3.473 @ 3.482,3.483 ® 3.481,3.491

@ 3.481,3.481 ® 3.485,3.495



1m=000lkm, lem = 0.01m% of, [ ]<ete] gk
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35
32
1000

32.19, 32.021,

1
10°

32




(1) 2.683 +3.019 (2) 4.092 + 3.008

@ (1) 5.692 (2) 6.991 @ (1) 5.692 (2) 7.1
® (1) 5.702 (2) 6.991 @ (1) 5.702 (2) 7.1

® (1) 5.702 (2) 7.01



== BtEA AL e 12X L.

(1) 17.5 — 8.47 + 3.962
(2) 10.45 + 2.76 — 5.147

@ (1) 11.982 (2) 7.063 @ (1) 11.992 (2) 8.063
® (1) 12.982 (2) 7.063 @ (1) 12.992 (2) 8.063

® (1) 12.995 (2) 8.063




52 57t A Sl g 7 AJYT A YA
ZHA7EA &) A= 1.9 km O] 2, ZHAIO| A W3] 7FA] = 700 m, 7HA| ol A]
HE7HA = 1.2km PUth A54] oA Be7EA 9] A= X4
Aol A w7k o] AEtt 2 km 7}t B WA F5HA Q.




9.

Al 224=0] GALS Bl2A] ARt Ae A 2A L.

(1) 6.888 + 4.721 + 3.019
(2) 11.809 + 7.89 + 1.666

@ (1) 14.617 (2) 21.364 @ (1) 14.627 (2) 21.365
@ (1) 14.628 (2) 21.365 @ (1) 14.628 (2) 21.466

® (1) 14.628 (2) 21.478



10. g moleh ol [ |oko] gure 42 A A de
o= AU

2.875 = 2+ 0.8 4 0.07 + 0.005

3.0683 = 3 4 0.06 + | |+ \

® 0.8,0.03 @ 0.8,0.0003 ® 0.08,0.0003

@ 0.008,0.003 ® 0.008,0.0003



